Rk 29 4E 12 A 27 H
& L

ARV =2 v 7 8B (GE i)

SIRYYHIEERY I AR GRRIE TR 29 FEE 2 mEH)
2DV T

ROV, UTOEBY L EVELEOTIENFL LFET,

BERK29FEEF2MWEE (TA~9A8) @
Vi vIEER (GEEER) OHREL I 7HHER (ERE)

F2MOFHOHET T

68.8 %

(5%#]
(1) W Z & o GE ERSHE Y = 7 50k B o HER R ]
TRE 28 FEE 29 FE
% 2Q #3Q %5 4Q %1Q
ey =T 65.1% 66.4% 67.1% 67.8%
Q: Dy=HA

() « BrE TIER D O k=,
T T E o = THEIE. GE HipHEE - MESHOT - KONIMS 0T — X &4 LI
HeGtH L7 E<h 5,

(2) =7 OFHEHE

[GE [E 5o %]
[GE By = 7] =

[GE EH 4D b 2 JeFEI S ORRE] + [GE B3 0¥l

[HEr=%t]
HARY = U w7 SR
ek 03 3279 1890






